Math 2568, Quiz #13, Fall 2013 Name KgY

Instructions: Show all work. Give exact answers
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following.

1. For the discrete dynamical system given by X4, = AX, where A = [ 3 1 4] find the

a. The eigenvalues of the system.
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b. Determine if the origin acts like a repeller, an attractor or a saddle point

c. Find the eigenvectors of the system and plot them on a graph
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d. Find a 10-point trajectory from the points X, = [i] and fromy, = [é] Sketch the
trajectory on the graph with the eigenvectors. What do you notice?
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